

Board of County Commissioners Agenda Request

3A
Agenda Item #

Requested Meeting Date: 2-25-25

Title of	Item: Award Contract 20258	
CONSENT AGENDA	Action Requested: Approve/Deny Motion ✓ Adopt Resolution (attach draft) Hold Public Hearing *provide code	Direction Requested Discussion Item Information Only py of hearing notice that was published
Submitted by: John Welle		Department: Highway
Presenter (Name and Title): John Welle, Aitkin County Enginee	r	Estimated Time Needed: 5 minutes
Summary of Issue:		•
1. SAP 001-605-017 - Bituminous 2. SAP 001-614-015 - Bituminous	oruary 10, 2025 for Contract No. 20258 w Resurfacing on 7.5 miles of CSAH 5 from Resurfacing on 4.4 miles of CSAH 14 fro 2104-000 - Bituminous Reclamation and I	n TH 210 to CSAH 3 near Palisade m CSAH 36 to the State Park
lower unit bid prices. Their project	includes base bid construction items and ase bid items. Contract language specifie	s to include their project in our contract for a set of Alternate 1 construction items ed that the lowest responsible bidder would
Brainerd LLC - Brainerd, MN - sub	of bids, six bids were received with Ander mitting the low base bid in the amount of 3 5, the low base bid is 3.73% below the es	\$3,238,847.44. With the cost of the base
Alternate 1 items. The total bid fro	ing on February 13, 2025, voted to procee m Anderson Brothers including the Altern iding Alternate 1 items of \$3,442,507.35.	ed with both the base bid items and the ate 1 items is \$3,297,950.44, which is
Alternatives, Options, Effects	s on Others/Comments:	
Recommended Action/Motion Award Contract 20258 to Anderson	n: n Brothers Construction Company of Brair	nerd LLC
Financial Impact: Is there a cost associated with What is the total cost, with tax Is this budgeted? Ye \$2,500,000 was budgeted for the the Project will be reimbursed by Shan	and shipping? \$ 3,297,950.44 s No Please Exp wo county projects in 2025. The \$653,569	

Aitkin County Bid Abstract

Project Name:Bituminous Milling, Reclamation, Paving, Culvert Replacement, and Aggregate ShoulderingBid Opening:February 10, 2025 at 2:00 PM

Contract:

20258

Project Numbers: SAP 001-605-017, SAP 001-614-015, Shamrock Twp 022104-000

No. Company	SAP 001-605-017 Bituminous Resurfacing from TH 210 to CSAH 3 -					Anderson Brothers	Construction Company	Central Spec	ialties Inc	Ulland Brot	hers, Inc
	Participating			Engineer's	Estimate	of Brainerd LL	C -Brainerd, MN	Alexand		Cloque	et, MN
Line Number	Description	Unit	Quantity	Est Price	Est Total	Price	Total	Price	Total		Total
1 2021.50	MOBILIZATION	LS	1	\$60,000.00	\$60,000.00	\$47,500.00	\$47,500.00	\$120,000.00	\$120,000.00	\$81,456.33	\$81,456.33
2 2051.50	MAINT AND RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1,800.00	\$1,800.00
3 2104.50	REMOVE CONCRETE APRON	EACH	4	\$250.00	\$1,000.00	\$265.00	\$1,060.00	\$150.00	\$600.00	\$500.00	\$2,000.00
4 2104.50	3 SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LF	843	\$5.00	\$4,215.00	\$1.00	\$843.00	\$2.05	\$1,728.15	\$2.95	\$2,486.85
5 2104.50	3 REMOVE PIPE CULVERTS	LF	713	\$18.00	\$12,834.00	\$14.25	\$10,160.25	\$17.00	\$12,121.00	\$35.00	\$24,955.00
6 2104.50	REMOVE BITUMINOUS PAVEMENT	SY	3,095	\$7.00	\$21,665.00	\$5.25	\$16,248.75	\$8.75	\$27,081.25	\$4.60	\$14,237.00
7 2106.60	3 SHOULDER EXCAVATION	LF	78,242	\$0.30	\$23,472.60	\$0.12	\$9,389.04	\$0.15	\$11,736.30	\$0.30	\$23,472.60
8 2108.50	4 GEOTEXTILE FABRIC TYPE 5	SY	284	\$5.00	\$1,420.00	\$23.25	\$6,603.00	\$3.00	\$852.00	\$5.25	\$1,491.00
9 2118.50	AGGREGATE SURFACING CLASS SPECIAL	TON	3,883	\$22.00	\$85,426.00	\$23.25	\$90,279.75	\$20.00	\$77,660.00	\$28.00	\$108,724.00
10 2211.50	AGGREGATE BASE (CV) CLASS 5	CY	1,313	\$30.00	\$39,390.00	\$41.00	\$53,833.00	\$52.00	\$68,276.00	\$47.00	\$61,711.00
11 2232.50	4 MILL BITUMINOUS SURFACE (1.5")	SY	126,480	\$1.10	\$139,128.00	\$0.88	\$111,302.40	\$1.25	\$158,100.00	\$1.15	\$145,452.00
12 2357.50	BITUMINOUS MATERIAL FOR TACK COAT	GAL	19,290	\$3.00	\$57,870.00	\$2.45	\$47,260.50	\$3.50	\$67,515.00	\$0.01	\$192.90
13 2360.50	TYPE SP 9.5 NON WEARING COURSE MIXTURE (2,B)	TON	19,932	\$56.00	\$1,116,192.00	\$59.00	\$1,175,988.00	\$54.49	\$1,086,094.68	\$52.00	\$1,036,464.00
14 2451.50	7 STRUCTURE EXCAVATION CLASS U (P)	CY	3,530	\$12.00	\$42,360.00	\$22.95	\$81,013.50	\$9.50	\$33,535.00	\$27.00	\$95,310.00
15 2451.50	7 GRANULAR BACKFILL (LV)	CY	3,993	\$20.00	\$79,860.00	\$14.75	\$58,896.75	\$15.00	\$59,895.00	\$28.00	\$111,804.00
16 2451.50	7 COARSE AGGREGATE BEDDING (CV)	CY	34	\$50.00	\$1,700.00	\$80.00	\$2,720.00	\$200.00	\$6,800.00	\$94.00	\$3,196.00
17 2501.50	2 18" GS PIPE APRON	EACH	10	\$450.00	\$4,500.00	\$270.00	\$2,700.00	\$300.00	\$3,000.00	\$500.00	\$5,000.00
18 2501.50	2 24" GS PIPE APRON	EACH	2	\$550.00	\$1,100.00	\$503.00	\$1,006.00	\$375.00	\$750.00	\$600.00	\$1,200.00
19 2501.50	2 30" GS PIPE APRON	EACH	6	\$1,000.00	\$6,000.00	\$880.00	\$5,280.00	\$600.00	\$3,600.00	\$900.00	\$5,400.00
20 2501.50	2 71" SPAN GS PIPE-ARCH APRON	EACH	2	\$3,000.00	\$6,000.00	\$3,300.00	\$6,600.00	\$2,500.00	\$5,000.00	\$2,900.00	\$5,800.00
21 2501.50	2 24" RC PIPE APRON	EACH	4	\$1,500.00	\$6,000.00	\$1,965.00	\$7,860.00	\$1,400.00	\$5,600.00	\$1,300.00	\$5,200.00
22 2501.50	3 24" RC PIPE CULVERT DESIGN 3006	LF	96	\$145.00	\$13,920.00	\$165.00	\$15,840.00	\$95.00	\$9,120.00	\$170.00	\$16,320.00
23 2501.50	3 24" RC PIPE CULVERT DESIGN 3006 CLASS III	LF	66	\$155.00	\$10,230.00	\$154.00	\$10,164.00	\$95.00	\$6,270.00	\$200.00	\$13,200.00
24 2501.50	3 18" CS PIPE CULVERT	LF	212	\$60.00	\$12,720.00	\$85.50	\$18,126.00	\$50.00	\$10,600.00	\$60.00	\$12,720.00
25 2501.50	3 24" CS PIPE CULVERT	LF	96	\$75.00	\$7,200.00	\$94.00	\$9,024.00	\$43.00	\$4,128.00	\$65.00	\$6,240.00
26 2501.50	3 30" CS PIPE CULVERT	LF	152	\$100.00	\$15,200.00	\$108.00	\$16,416.00	\$78.00	\$11,856.00	\$120.00	\$18,240.00
27 2501.50	3 71" SPAN CS PIPE-ARCH CULVERT	LF	30	\$300.00	\$9,000.00	\$445.00	\$13,350.00	\$220.00	\$6,600.00	\$245.00	\$7,350.00
28 2511.50	7 RANDOM RIPRAP CLASS II	CY	34	\$80.00	\$2,720.00	\$135.00	\$4,590.00	\$110.00	\$3,740.00	\$170.00	\$5,780.00
30 2563.60	1 TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$2,900.00	\$2,900.00	\$4,700.00	\$4,700.00
31 2573.50	3 SILT FENCE, TYPE HI	LF	1,199	\$4.50	\$5,395.50	\$3.15	\$3,776.85	\$3.00	\$3,597.00	\$3.00	\$3,597.00
32 2573.50	3 FLOTATION SILT CURTAIN TYPE STILL WATER	LF	90	\$25.00	\$2,250.00	\$16.00	\$1,440.00	\$15.00	\$1,350.00	\$15.00	\$1,350.00
33 2573.50	3 SEDIMENT CONTROL LOG TYPE STRAW	LF	425	\$5.00	\$2,125.00	\$3.15	\$1,338.75	\$3.00	\$1,275.00	\$3.00	\$1,275.00
34 2574.50	B FERTILIZER TYPE 3	LB	455	\$1.25	\$568.75	\$1.00	\$455.00	\$0.95	\$432.25	\$0.95	\$432.25
35 2575.50	5 SEEDING (P)	ACRE	1.3	\$1,000.00	\$1,300.00	\$525.00	\$682.50	\$500.00	\$650.00	\$500.00	\$650.00
36 2575.60	B SEED MESIC INSLOPE	LB	85	\$6.00	\$510.00	\$9.00	\$765.00	\$8.52	\$724.20	\$8.50	\$722.50
37 2575.50	8 HYDRAULIC BONDED FIBER MATRIX	LB	3,900	\$2.25	\$8,775.00	\$2.05	\$7,995.00	\$1.95	\$7,605.00	\$1.95	\$7,605.00

	and a state	SAP 001-605-017 Bituminous Resurfacing from TH 210 to CSAH 3 -					Anderson Brothers	Construction Company	Central Spe	cialties Inc	Ulland Brothers, Inc	
		Participating		a the fight	Engineer	s Estimate	of Brainerd LL	.C -Brainerd, MN	Alexand	dria, MN	Cloqu	et, MN
Line	Number	Description	Unit	Quantity	Est Price	Est Total	Price	Total	Price	Total	Price	Total
38	2575.523	RAPID STABILIZATION METHOD 3	MGAL	8	\$100.00	\$800.00	\$525.00	\$4,200.00	\$495.00	\$3,960.00	\$495.00	\$3,960.00
39	2580.503	INTERIM PAVEMENT MARKING	LF	85,869	\$0.20	\$17,173.80	\$0.20	\$17,173.80	\$0.10	\$8,586.90	\$0.23	\$19,749.87
40	2582.503	6" SOLID LINE MULTI-COMPONENT	LF	25,553	\$0.45	\$11,498.85	\$0.53	\$13,543.09	\$0.50	\$12,776.50	\$0.50	\$12,776.50
41	2582.503	6" BROKEN LINE MULTI-COMPONENT	LF	6,140	\$0.45	\$2,763.00	\$0.53	\$3,254.20	\$0.50	\$3,070.00	\$0.50	\$3,070.00
42	2582.503	6" SOLID LINE MULTI-COMPONENT GROUND IN (WR)	LF	78,547	\$1.00	\$78,547.00	\$1.03	\$80,903.41	\$0.98	\$76,976.06	\$0.98	\$76,976.06
43	2582.503	24" SOLID LINE MULTI-COMPONENT GROUND IN (WR)	LF	30	\$25.00	\$750.00	\$42.00	\$1,260.00	\$40.00	\$1,200.00	\$40.00	\$1,200.00
44	2582.503	6" BROKEN LINE MULTI-COMPONENT GROUND IN (WR)	LF	313	\$1.00	\$313.00	\$1.03	\$322.39	\$0.98	\$306.74	\$0.98	\$306.74
45	2582.518	PAVEMENT MESSAGE MULTI-COMPONENT GROUND IN (WR)	SF	50	\$25.00	\$1,250.00	\$47.50	\$2,375.00	\$45.00	\$2,250.00	\$45.00	\$2,250.00
		Totals for Projec	t SAP 00	01-605-017		\$1,926,142.50		\$1,968,539.93		\$1,929,919.03		\$1,957,823.60
	% of Estimate for Project SAP 001-605-01			01-605-017				2.20%		0.20%		1.64%

	No. 20	:	SAP 001-614-015 Bituminous Milling, Paving & Aggregate			Southered States	Contraction Providence	Anderson Brothers	Construction Company	Central Spe	cialties Inc	Ulland Bro	thers, Inc
	1.5		Shouldering - Participating		Market State	Engineer'	s Estimate	of Brainerd LL	.C -Brainerd, MN	Alexand	iria, MN	Cloqu	et, MN
Line	Numb	ber	Description	Unit	Quantity	Est Price	Est Total	Price	Total	Price	Total	Price	Total
1	2021.	1.501	MOBILIZATION	LS	1	\$25,000.00	\$25,000.00	\$18,500.00	\$18,500.00	\$1.00	\$1.00	\$13,000.00	\$13,000.00
2	2051.	1.501	MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1,800.00	\$1,800.00
3	2118.	8.509	AGGREGATE SURFACING CLASS SPECIAL	TON	840	\$22.00	\$18,480.00	\$34.00	\$28,560.00	\$32.00	\$26,880.00	\$36.00	\$30,240.00
4	2232.	2.504	MILL BITUMINOUS SURFACE (1.5")	SY	68,287	\$1.10	\$75,115.70	\$0.66	\$45,069.42	\$1.10	\$75,115.70	\$1.60	\$109,259.20
5	2357.	7.506	BITUMINOUS MATERIAL FOR TACK COAT	GAL	10,228	\$3.00	\$30,684.00	\$2.45	\$25,058.60	\$3.50	\$35,798.00	\$0.01	\$102.28
e	2360.	0.509	TYPE SP 9.5 WEARING COURSE MIXTURE (2,B)	TON	8,623	\$56.00	\$482,888.00	\$55.00	\$474,265.00	\$51.74	\$446,154.02	\$57.00	\$491,511.00
8	2563.	3.601	TRAFFIC CONTROL	LS	1	\$6,000.00	\$6,000.00	\$3,100.00	\$3,100.00	\$1,900.00	\$1,900.00	\$3,000.00	\$3,000.00
9	2580.	0.503	INTERIM PAVEMENT MARKING	LF	104,357	\$0.20	\$20,871.40	\$0.15	\$15,653.55	\$0.10	\$10,435.70	\$0.23	\$24,002.11
10	2582.	2.503	6" SOLID LINE MULTI-COMPONENT	LF	32,961	\$0.45	\$14,832.45	\$0.53	\$17,469.33	\$0.50	\$16,480.50	\$0.50	\$16,480.50
11	2582.	2.503	6" BROKEN LINE MULTI-COMPONENT	LF	3,650	\$0.45	\$1,642.50	\$0.53	\$1,934.50	\$0.50	\$1,825.00	\$0.50	\$1,825.00
12	2582.	2.503	6" SOLID LINE MULTI-COMPONENT GROUND IN (WR)	LF	44,887	\$0.90	\$40,398.30	\$1.03	\$46,233.61	\$0.98	\$43,989.26	\$0.98	\$43,989.26
			Totals for Projec	t SAP 00	01-614-015		\$716,912.35		\$675,845.01		\$658,580.18		\$735,209.35
			% of Estimate for Project	t SAP 00	01-614-015				-5.73%		-8.14%		2.55%

	C. C. C. C. C.	Shamrock Twp 022104-000 Bituminous Reclamation and Paving on			Statility a function of the second state of the second second second second second second second second second		Anderson Brothers	Construction Company	Central Spe	cialties Inc	Ulland Brothers, Inc	
	1.0.0	Long Point Place - Shamrock Township			Engineer'	s Estimate	of Brainerd LL	of Brainerd LLC -Brainerd, MN		iria, MN	Cloquet, MN	
Line	Number	Description	Unit	Quantity	Est Price	Est Total	Price	Total	Price	Total	Price	Total
1	2021.501	MOBILIZATION	LS	1	\$60,000.00	\$60,000.00	\$17,000.00	\$17,000.00	\$1.00	\$1.00	\$18,000.00	\$18,000.00
2	2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LF	145	\$4.00	\$580.00	\$5.00	\$725.00	\$3.05	\$442.25	\$4.00	\$580.00
3	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LF	265	\$3.00	\$795.00	\$2.50	\$662.50	\$2.05	\$543.25	\$3.00	\$795.00
4	2104.504	REMOVE CONCRETE WALK	SY	10	\$7.50	\$75.00	\$25.00	\$250.00	\$50.00	\$500.00	\$31.00	\$310.00
5	2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	185	\$10.00	\$1,850.00	\$10.00	\$1,850.00	\$32.00	\$5,920.00	\$14.00	\$2,590.00
6	2104.504	REMOVE BITUMINOUS DRIVEWAY PAVEMENT	SY	465	\$6.00	\$2,790.00	\$10.00	\$4,650.00	\$32.00	\$14,880.00	\$11.00	\$5,115.00
7	2104.504	REMOVE BITUMINOUS PAVEMENT	SY	340	\$6.00	\$2,040.00	\$5.00	\$1,700.00	\$15.00	\$5,100.00	\$10.00	\$3,400.00
8	2123.51	MOTOR GRADER	HOUR	16	\$230.00	\$3,680.00	\$240.00	\$3,840.00	\$650.00	\$10,400.00	\$230.00	\$3,680.00
9	2123.61	SKID LOADER	HOUR	8	\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$175.00	\$1,400.00	\$310.00	\$2,480.00
10	2123.61	STREET SWEEPER (WITH PICKUP BROOM)	HOUR	16	\$250.00	\$4,000.00	\$230.00	\$3,680.00	\$275.00	\$4,400.00	\$290.00	\$4,640.00
11	2211.507	AGGREGATE BASE (CV) CLASS 5	CY	890	\$35.00	\$31,150.00	\$50.00	\$44,500.00	\$65.00	\$57,850.00	\$67.00	\$59,630.00

		Shamrock Twp 022104-000 Bituminous Reclamation and Paving on	1.00				Anderson Brothers	Construction Company	Central Spec	cialties Inc	Ulland Brot	hers, Inc
		Long Point Place - Shamrock Township	La Carlos		Engineer'	s Estimate	of Brainerd LL	C -Brainerd, MN	Alexand	ria, MN	Cloqu	et, MN
Line	Number	Description	Unit	Quantity	Est Price	Est Total	Price	Total	Price	Total	Price	Total
12	2215.504	FULL DEPTH RECLAMATION	SY	19,230	\$3.00	\$57,690.00	\$1.85	\$35,575.50	\$3.00	\$57,690.00	\$1.25	\$24,037.50
13	2331.603	JOINT ADHESIVE	LF	1,350	\$1.50	\$2,025.00	\$1.50	\$2,025.00	\$1.25	\$1,687.50	\$2.30	\$3,105.00
14	2360.509	TYPE SP 9.5 WEARING COURSE MIXTURE (2,C)	TON	5,010	\$80.00	\$400,800.00	\$72.00	\$360,720.00	\$75.44	\$377,954.40	\$77.00	\$385,770.00
15	2521.518	4" CONCRETE WALK	SF	45	\$10.00	\$450.00	\$14.50	\$652.50	\$10.00	\$450.00	\$20.00	\$900.00
16	2531.504	6" CONCRETE DRIVEWAY PAVEMENT	SY	185	\$85.00	\$15,725.00	\$93.50	\$17,297.50	\$81.00	\$14,985.00	\$92.00	\$17,020.00
17	2531.603	CONCRETE RIBBON CURB	LF	1,350	\$20.00	\$27,000.00	\$23.00	\$31,050.00	\$22.00	\$29,700.00	\$23.25	\$31,387.50
18	2563.601	TRAFFIC CONTROL	LS	1	\$15,000.00	\$15,000.00	\$1,900.00	\$1,900.00	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00
19	2573.501	STABILIZED CONSTRUCTION EXIT	LS	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
20	2573.503	SILT FENCE, TYPE MS	LF	2,055	\$3.50	\$7,192.50	\$3.15	\$6,473.25	\$3.00	\$6,165.00	\$3.00	\$6,165.00
21	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LF	5,280	\$3.50	\$18,480.00	\$3.15	\$16,632.00	\$3.00	\$15,840.00	\$3.00	\$15,840.00
22	2574.507	COMMON TOPSOIL BORROW	CY	595	\$45.00	\$26,775.00	\$40.00	\$23,800.00	\$45.00	\$26,775.00	\$35.00	\$20,825.00
23	2574.508	FERTILIZER TYPE 3	LB	200	\$1.50	\$300.00	\$1.00	\$200.00	\$0.95	\$190.00	\$0.95	\$190.00
24	2575.501	TURF ESTABLISHMENT	LS	1	\$7,500.00	\$7,500.00	\$1,055.00	\$1,055.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
25	2575.505	SEEDING	ACRE	0.9	\$1,500.00	\$1,350.00	\$525.00	\$472.50	\$500.00	\$450.00	\$500.00	\$450.00
26	2575.508	SEED MIXTURE 36-311	LB	26	\$35.00	\$910.00	\$29.00	\$754.00	\$27.63	\$718.38	\$28.00	\$728.00
27	2575.508	HYDRAULIC MULCH MATRIX	LB	2,075	\$2.50	\$5,187.50	\$2.05	\$4,253.75	\$1.95	\$4,046.25	\$1.95	\$4,046.25
28	2582.503	4" DOUBLE SOLID LINE MULTI-COMPONENT (WR)	LF	10,040	\$2.50	\$25,100.00	\$1.10	\$11,044.00	\$1.04	\$10,441.60	\$1.05	\$10,542.00
						\$721,145.00		\$594,462.50		\$654,529.63		\$629,826.25
								-17.57%		-9.24%		-12.66%
		Base Bid Totals	for Cont	tract 20258		\$3,364,199.85		\$3,238,847.44		\$3,243,028.84		\$3,322,859.20
	Base Bid % of Estimate for Contract 20258							-3.73%		-3.60%		-1.23%

		022104-000 Bituminous Reclamation and Paving on Long Point Place - Shamrock Township - ALT 1			Engineer's Estimate			Construction Company C -Brainerd, MN		cialties Inc dria, MN	Ulland Brothers, Inc Cloquet, MN	
Line	Number	Description	Unit	Quantity	Est Price	Est Total	Price	Total	Price	Total	Price	Total
29	2021.501	MOBILIZATION	LS	1	\$8,000.00	\$8,000.00	\$1,100.00	\$1,100.00	\$6,600.00	\$6,600.00	\$10,400.00	\$10,400.00
30	2232.504	MILL BITUMINOUS SURFACE (2.0")	SY	4,405	\$2.50	\$11,012.50	\$2.50	\$11,012.50	\$1.80	\$7,929.00	\$3.70	\$16,298.50
31	2360.509	TYPE SP 9.5 WEARING COURSE MIXTURE (2,C)	TON	510	\$80.00	\$40,800.00	\$72.00	\$36,720.00	\$75.44	\$38,474.40	\$77.00	\$39,270.00
32	2573.503	SILT FENCE, TYPE MS	LF	420	\$3.50	\$1,470.00	\$3.15	\$1,323.00	\$3.00	\$1,260.00	\$3.00	\$1,260.00
33	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LF	1,620	\$3.50	\$5,670.00	\$3.15	\$5,103.00	\$3.00	\$4,860.00	\$3.00	\$4,860.00
34	2582.503	4" SOLID LINE MULTI-COMPONENT (WR)	LF	3,490	\$2.00	\$6,980.00	\$0.55	\$1,919.50	\$0.52	\$1,814.80	\$0.52	\$1,814.80
35	2582.503	4" DOUBLE SOLID LINE MULTI-COMPONENT (WR)	LF	1,750	\$2.50	\$4,375.00	\$1.10	\$1,925.00	\$1.04	\$1,820.00	\$1.05	\$1,837.50
		Totals for Project Shamrock Tw	p 02210	4-000 ALT 1		\$78,307.50		\$59,103.00		\$62,758.20		\$75,740.80
		% of Estimate for Project Shamrock Tw	p 02210	4-000 ALT 1				-24.52%		-19.86%		-3.28%
		Totals for Contra		\$3,442,507,35		\$3,297,950,44		\$3,305,787,04		\$3,398,600,00		

Totals for Contract 20258 with ALT 1	\$3,442,507.35	\$3,297,950.44	\$3,305,787.04	\$3,398,600.00
% of Estimate for Contract 20258 with ALT 1		-4.20%	-3.97%	-1.28%

		SAP 001-605-017 Bituminous Resurfacing from TH 210 to CSAH 3			Hawkinson Cons			ractors, Inc		Service and the
		Participating	1	19101235	Grand Ra		the second s	ora, MN		Sauk Rapids, MN
ne			Unit		Price		Price	Total	Price	Total
1		1 MOBILIZATION	LS	1	\$130,000.00	\$130,000.00	\$126,000.00	\$126,000.00	\$107,000.00	\$107,000.00
2	2051.501	1 MAINT AND RESTORATION OF HAUL ROADS	LS	1		\$1.00	\$1,200.00	\$1,200.00	\$1.00	\$1.00
3	2104.502	2 REMOVE CONCRETE APRON	EACH	4	+	\$600.00	\$375.00	\$1,500.00	\$145.00	\$580.00
4	2104.503	3 SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LF	843		\$1,854.60	\$3.40	\$2,866.20	\$4.00	\$3,372.00
5	2104.503	3 REMOVE PIPE CULVERTS	LF	713		\$6,887.58	\$15.00	\$10,695.00	\$9.00	\$6,417.00
6	2104.504	4 REMOVE BITUMINOUS PAVEMENT	SY	3,095	\$6.97	\$21,572.15	\$1.60	\$4,952.00	\$6.50	\$20,117.50
7	2106.603	3 SHOULDER EXCAVATION	LF	78,242	\$0.10	\$7,824.20	\$3.60	\$281,671.20	\$0.35	\$27,384.70
8	2108.504	4 GEOTEXTILE FABRIC TYPE 5	SY	284		\$684.44	\$4.50	\$1,278.00	\$2.25	\$639.00
9	2118.509	9 AGGREGATE SURFACING CLASS SPECIAL	TON	3,883	\$22.50	\$87,367.50	\$19.95	\$77,465.85	\$28.00	\$108,724.00
10	2211.507	7 AGGREGATE BASE (CV) CLASS 5	CY	1,313	\$49.33	\$64,770.29	\$31.00	\$40,703.00	\$56.00	\$73,528.00
11	2232.504	4 MILL BITUMINOUS SURFACE (1.5")	SY	126,480	\$1.00	\$126,480.00	\$1.15	\$145,452.00	\$1.75	\$221,340.00
12	2357.506	6 BITUMINOUS MATERIAL FOR TACK COAT	GAL	19,290	\$2.85	\$54,976.50	\$2.75	\$53,047.50	\$2.00	\$38,580.00
13	2360.509	9 TYPE SP 9.5 NON WEARING COURSE MIXTURE (2,B)	TON	19,932	\$56.75	\$1,131,141.00	\$53.70	\$1,070,348.40	\$69.00	\$1,375,308.00
14	2451.507	7 STRUCTURE EXCAVATION CLASS U (P)	CY	3,530	\$22.25	\$78,542.50	\$20.00	\$70,600.00	\$20.75	\$73,247.50
15	2451.507	7 GRANULAR BACKFILL (LV)	CY	3,993	\$16.62	\$66,363.66	\$23.00	\$91,839.00	\$15.50	\$61,891.50
16	2451.507	7 COARSE AGGREGATE BEDDING (CV)	CY	34	\$89.01	\$3,026.34	\$70.00	\$2,380.00	\$83.00	\$2,822.00
17	2501.502	2 18" GS PIPE APRON	EACH	10	\$289.55	\$2,895.50	\$515.00	\$5,150.00	\$270.00	\$2,700.00
18	2501.502	2 24" GS PIPE APRON	EACH	2	\$412.61	\$825.22	\$785.00	\$1,570.00	\$384.75	\$769.50
19	2501.502	2 30" GS PIPE APRON	EACH	6	\$736.74	\$4,420.44	\$1,555.00	\$9,330.00	\$687.00	\$4,122.00
20	2501.502	2 71" SPAN GS PIPE-ARCH APRON	EACH	2	\$3,592.56	\$7,185.12	\$4,335.00	\$8,670.00	\$3,350.00	\$6,700.00
21	2501.502	2 24" RC PIPE APRON	EACH	4	\$2,359.29	\$9,437.16	\$1,700.00	\$6,800.00	\$2,200.00	\$8,800.00
22	2501.503	3 24" RC PIPE CULVERT DESIGN 3006	LF	96	\$99.74	\$9,575.04	\$165.00	\$15,840.00	\$93.00	\$8,928.00
23	2501.503	3 24" RC PIPE CULVERT DESIGN 3006 CLASS III	LF	66	\$101.88	\$6,724.08	\$172.00	\$11,352.00	\$95.00	\$6,270.00
24	2501.503	3 18" CS PIPE CULVERT	LF	212	\$117.96	\$25,007.52	\$97.00	\$20,564.00	\$110.00	\$23,320.00
25	2501.503	3 24" CS PIPE CULVERT	LF	96	\$102.42	\$9,832.32	\$103.00	\$9,888.00	\$95.50	\$9,168.00
26	2501.503	3 30" CS PIPE CULVERT	LF	152	\$140.48	\$21,352.96	\$143.00	\$21,736.00	\$131.00	\$19,912.00
27	2501.503	3 71" SPAN CS PIPE-ARCH CULVERT	LF	30	\$317.43	\$9,522.90	\$375.00	\$11,250.00	\$296.00	\$8,880.00
28	2511.50	7 RANDOM RIPRAP CLASS II	CY	34	\$91.15	\$3,099.10	\$90.00	\$3,060.00	\$85.00	\$2,890.00
30	2563.60	1 TRAFFIC CONTROL	LS	1	\$4,800.00	\$4,800.00	\$7,250.00	\$7,250.00	\$20,000.00	\$20,000.00
31		3 SILT FENCE, TYPE HI	LF	1,199	\$3.22	\$3,860.78	\$5.00	\$5,995.00	\$3.00	\$3,597.00
32		3 FLOTATION SILT CURTAIN TYPE STILL WATER	LF	90		\$1,447.20	\$26.25	\$2,362.50	\$15.00	\$1,350.00
33		3 SEDIMENT CONTROL LOG TYPE STRAW	LF	425	\$3.22	\$1,368.50	\$4.75	\$2,018.75	\$3.00	\$1,275.00
34		8 FERTILIZER TYPE 3	LB	455	\$1.02	\$464.10	\$2.00	\$910.00	\$0.95	\$432.25
35		5 SEEDING (P)	ACRE	1.3	\$536.20	\$697.06	\$525.00	\$682.50	\$500.00	\$650.00
36		8 SEED MESIC INSLOPE	LB	85		\$776.90	\$16.00	\$1,360.00	\$8.52	\$724.20
37		8 HYDRAULIC BONDED FIBER MATRIX	LB	3,900		\$8,151.00	\$2.00	\$7,800.00	\$1.95	\$7,605.00
38		3 RAPID STABILIZATION METHOD 3	MGAL	8		\$4,246.72	\$775.00	\$6,200.00	\$495.00	\$3,960.00
39		3 INTERIM PAVEMENT MARKING	LF	85,869		\$20,608.56	\$0.15	\$12,880.35	\$0.10	\$8,586.90
40	+	3 6" SOLID LINE MULTI-COMPONENT	LF	25,553		\$13,798.62	\$0.50	\$12,776.50	\$0.50	\$12,776.50
41		3 6" BROKEN LINE MULTI-COMPONENT	LF	6,140		\$3,315.60	\$0.50	\$3,070.00	\$0.50	\$3,070.00
42		3 6" SOLID LINE MULTI-COMPONENT GROUND IN (WR)	LF	78,547	\$1.05	\$82,474.35	\$1.05	\$82,474.35	\$0.98	\$76,976.06
43		3 24" SOLID LINE MULTI-COMPONENT GROUND IN (WR)	LF	30		\$1,286.70	\$42.50	\$1,275.00	\$40.00	\$1,200.00

44	2582.503	6" BROKEN LINE MULTI-COMPONENT GROUND IN (WR)	LF	313	\$1.05	\$328.65	\$1.05	\$328.65	\$0.98	\$306.74
		SAP 001-605-017 Bituminous Resurfacing from TH 210 to CSAH 3 -			Hawkinson Cons	truction Co., Inc	KGM Cont	ractors, Inc		
		Participating			Grand Ra	apids, MN	Ango	ora, MN	KNIFE RIVER - S	auk Rapids, MN
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total
45	2582.518	PAVEMENT MESSAGE MULTI-COMPONENT GROUND IN (WR)	SF	50	\$48.26	\$2,413.00	\$48.00	\$2,400.00	\$45.00	\$2,250.00
		Totals for Project	t SAP O	01-605-017		\$2,042,006.86		\$2,256,991.75		\$2,368,171.35
		% of Estimate for Project	t SAP 0	01-605-017		6.02%		17.18%		22.95%

		SAP 001-614-015 Bituminous Milling, Paving & Aggregate			Hawkinson Const	truction Co., Inc	KGM Cont	ractors, Inc		
		Shouldering - Participating		1.1.1.1.1.	Grand Ra	apids, MN	Ango	ora, MN	KNIFE RIVER - S	Sauk Rapids, MN
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total
1	2021.501	MOBILIZATION	LS	1	\$6,000.00	\$6,000.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00
2	2051.501	MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1.00	\$1.00	\$1,500.00	\$1,500.00	\$1.00	\$1.00
3	2118.509	AGGREGATE SURFACING CLASS SPECIAL	TON	840	\$27.00	\$22,680.00	\$25.00	\$21,000.00	\$30.00	\$25,200.00
4	2232.504	MILL BITUMINOUS SURFACE (1.5")	SY	68,287	\$0.85	\$58,043.95	\$1.50	\$102,430.50	\$1.35	\$92,187.45
5	2357.506	BITUMINOUS MATERIAL FOR TACK COAT	GAL	10,228	\$2.85	\$29,149.80	\$2.80	\$28,638.40	\$2.00	\$20,456.00
6	2360.509	TYPE SP 9.5 WEARING COURSE MIXTURE (2,B)	TON	8,623	\$57.00	\$491,511.00	\$58.20	\$501,858.60	\$66.00	\$569,118.00
8	2563.601	TRAFFIC CONTROL	LS	1	\$3,000.00	\$3,000.00	\$5,325.00	\$5,325.00	\$13,000.00	\$13,000.00
9	2580.503	INTERIM PAVEMENT MARKING	LF	104,357	\$0.24	\$25,045.68	\$0.15	\$15,653.55	\$0.10	\$10,435.70
10	2582.503	6" SOLID LINE MULTI-COMPONENT	LF	32,961	\$0.54	\$17,798.94	\$0.50	\$16,480.50	\$0.50	\$16,480.50
11	2582.503	6" BROKEN LINE MULTI-COMPONENT	LF	3,650	\$0.54	\$1,971.00	\$0.50	\$1,825.00	\$0.50	\$1,825.00
12	2582.503	6" SOLID LINE MULTI-COMPONENT GROUND IN (WR)	LF	44,887	\$1.05	\$47,131.35	\$1.05	\$47,131.35	\$0.98	\$43,989.26
		Totals for Project	t SAP 00	01-614-015		\$702,332.72		\$756,842.90		\$832,692.91
		% of Estimate for Project	t SAP 00	01-614-015		-2.03%		5.57%		16.15%

		Shamrock Twp 022104-000 Bituminous Reclamation and Paving on	100		Hawkinson Const	truction Co., Inc	KGM Cont	ractors, Inc		
	1000	Long Point Place - Shamrock Township			Grand Ra	apids, MN	Ango	ora, MN	KNIFE RIVER - Sauk Rapids, MN	
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total
1	2021.501	MOBILIZATION	LS	1	\$22,000.00	\$22,000.00	\$23,000.00	\$23,000.00	\$18,000.00	\$18,000.00
2	2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LF	145	\$3.27	\$474.15	\$8.00	\$1,160.00	\$14.00	\$2,030.00
3	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LF	265	\$2.20	\$583.00	\$3.50	\$927.50	\$7.00	\$1,855.00
4	2104.504	REMOVE CONCRETE WALK	SY	10	\$12.50	\$125.00	\$75.00	\$750.00	\$140.00	\$1,400.00
5	2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	185	\$10.00	\$1,850.00	\$20.00	\$3,700.00	\$45.00	\$8,325.00
6	2104.504	REMOVE BITUMINOUS DRIVEWAY PAVEMENT	SY	465	\$6.00	\$2,790.00	\$5.85	\$2,720.25	\$18.00	\$8,370.00
7	2104.504	REMOVE BITUMINOUS PAVEMENT	SY	340	\$6.00	\$2,040.00	\$5.85	\$1,989.00	\$6.00	\$2,040.00
8	2123.51	MOTOR GRADER	HOUR	16	\$250.00	\$4,000.00	\$225.00	\$3,600.00	\$500.00	\$8,000.00
9	2123.61	SKID LOADER	HOUR	8	\$190.00	\$1,520.00	\$175.00	\$1,400.00	\$400.00	\$3,200.00
10	2123.61	STREET SWEEPER (WITH PICKUP BROOM)	HOUR	16	\$225.00	\$3,600.00	\$325.00	\$5,200.00	\$200.00	\$3,200.00
11	2211.507	AGGREGATE BASE (CV) CLASS 5	CY	890	\$50.00	\$44,500.00	\$45.00	\$40,050.00	\$65.00	\$57,850.00
12	2215.504	FULL DEPTH RECLAMATION	SY	19,230	\$1.65	\$31,729.50	\$0.95	\$18,268.50	\$2.70	\$51,921.00
13	2331.603	JOINT ADHESIVE	LF	1,350	\$1.28	\$1,728.00	\$0.45	\$607.50	\$1.20	\$1,620.00
14	2360.509	TYPE SP 9.5 WEARING COURSE MIXTURE (2,C)	TON	5,010	\$85.00	\$425,850.00	\$69.40	\$347,694.00	\$81.00	\$405,810.00
15	2521.518	4" CONCRETE WALK	SF	45	\$21.00	\$945.00	\$100.00	\$4,500.00	\$34.00	\$1,530.00
16	2531.504	6" CONCRETE DRIVEWAY PAVEMENT	SY	185	\$94.00	\$17,390.00	\$130.50	\$24,142.50	\$104.00	\$19,240.00
17	2531.603	CONCRETE RIBBON CURB	LF	1,350	\$24.00	\$32,400.00	\$27.25	\$36,787.50	\$26.00	\$35,100.00

18	2563.601	TRAFFIC CONTROL	LS	1	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00
19	2573.501	STABILIZED CONSTRUCTION EXIT	LS	1	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
		Shamrock Twp 022104-000 Bituminous Reclamation and Paving on			Hawkinson Cons	truction Co., Inc	KGM Conti	ractors, Inc	Sector Contractor	
		Long Point Place - Shamrock Township			Grand R	apids, MN	Ango	ora, MN	KNIFE RIVER - S	Sauk Rapids, MN
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total
20	2573.503	SILT FENCE, TYPE MS	LF	2,055	\$3.22	\$6,617.10	\$5.00	\$10,275.00	\$3.00	\$6,165.00
21	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LF	5,280	\$3.22	\$17,001.60	\$4.75	\$25,080.00	\$3.00	\$15,840.00
22	2574.507	COMMON TOPSOIL BORROW	CY	595	\$51.00	\$30,345.00	\$45.00	\$26,775.00	\$84.00	\$49,980.00
23	2574.508	FERTILIZER TYPE 3	LB	200	\$1.02	\$204.00	\$2.10	\$420.00	\$0.95	\$190.00
24	2575.501	TURF ESTABLISHMENT	LS	1	\$1,072.41	\$1,072.41	\$5,250.00	\$5,250.00	\$1,000.00	\$1,000.00
25	2575.505	SEEDING	ACRE	0.9	\$536.20	\$482.58	\$525.00	\$472.50	\$500.00	\$450.00
26	2575.508	SEED MIXTURE 36-311	LB	26	\$29.63	\$770.38	\$30.00	\$780.00	\$27.63	\$718.38
27	2575.508	HYDRAULIC MULCH MATRIX	LB	2,075	\$2.09	\$4,336.75	\$2.00	\$4,150.00	\$1.95	\$4,046.25
28	2582.503	4" DOUBLE SOLID LINE MULTI-COMPONENT (WR)	LF	10,040	\$1.12	\$11,244.80	\$1.10	\$11,044.00	\$1.04	\$10,441.60
						\$671,599.27		\$607,243.25		\$726,822.23
						-6.87%		-15.79%		0.79%

Base Bid Totals for Contract 20258	\$3,415,938.85	\$3,621,077.90	\$3,927,686.49
Base Bid % of Estimate for Contract 20258	1.54%	7.64%	16.75%

	No. of Street,	022104-000 Bituminous Reclamation and Paving on Long Point	1000		Hawkinson Cons	truction Co., Inc	KGM Cont	ractors, Inc		
		Place - Shamrock Township - ALT 1			Grand Ra	apids, MN	Ango	ora, MN	KNIFE RIVER - S	Sauk Rapids, MN
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total
29	2021.501	MOBILIZATION	LS	1	\$1,000.00	\$1,000.00	\$12,000.00	\$12,000.00	\$2,100.00	\$2,100.00
30	2232.504	MILL BITUMINOUS SURFACE (2.0")	SY	4,405	\$2.20	\$9,691.00	\$2.20	\$9,691.00	\$3.10	\$13,655.50
31	2360.509	TYPE SP 9.5 WEARING COURSE MIXTURE (2,C)	TON	510	\$85.00	\$43,350.00	\$78.70	\$40,137.00	\$78.00	\$39,780.00
32	2573.503	SILT FENCE, TYPE MS	LF	420	\$3.22	\$1,352.40	\$5.00	\$2,100.00	\$3.00	\$1,260.00
33	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LF	1,620	\$3.22	\$5,216.40	\$4.75	\$7,695.00	\$3.00	\$4,860.00
34	2582.503	4" SOLID LINE MULTI-COMPONENT (WR)	LF	3,490	\$0.56	\$1,954.40	\$0.55	\$1,919.50	\$0.52	\$1,814.80
35	2582.503	4" DOUBLE SOLID LINE MULTI-COMPONENT (WR)	LF	1,750	\$1.12	\$1,960.00	\$1.10	\$1,925.00	\$1.04	\$1,820.00
	Totals for Project Shamrock Twp 022104-000 ALT 1				\$64,524.20		\$75,467.50		\$65,290.30	
	% of Estimate for Project Shamrock Twp 022104-000 ALT 1				-17.60%		-3.63%		-16.62%	
					•		•	•		
						1				

Totals for Contract 20258 with ALT 1	\$3,480,463.05	\$3,696,545.40	\$3,992,976.79
% of Estimate for Contract 20258 with ALT 1	1.10%	7.38%	15.99%

I hereby certify that this is an exact reproduction of bids received.

Certified By: John Welle Det add solution whether Date: Add 22 add 10 add 22 add 22 add 24 ad

Date: 2-11-25

By Commissioner: xxx

ADOPTED February 25, 2025

20250225-xxx

Award Contract 20258

WHEREAS, Contract No. 20258 is for construction of SAP 001-605-017, SAP 001-614-015, and Shamrock Township Project 022104-000, and

WHEREAS, sealed bids were opened for this contract at 2:00 p.m. on Monday, February 10, 2025 with a total of six bids received, and

WHEREAS, Anderson Brothers Construction Company of Brainerd - Brainerd, MN - was the lowest responsible bidder with a base bid amount of \$3,238,847.44, and

WHEREAS, the total bid from Anderson Brothers Construction Company of Brainerd including the Alternate 1 bid items was \$3,297,950.44.

NOW THEREFORE, BE IT RESOLVED, that Anderson Brothers Construction Company of Brainerd be awarded Contract 20258 in the amount of \$3,297,950.44.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents

Commissioner xxx seconded the adoption of the resolution and it was declared adopted upon the following vote

XXX MEMBERS PRESENT

All Members Voting xxx

STATE OF MINNESOTA} COUNTY OF AITKIN}

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the <u>25th day of February 2025</u>, and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 25th day of February 2025

Jessica Seibert County Administrator